Harder Solve Practice #2

Solve:

4. 4x% = 8X + 396

5. Xx?>=10-3X

3x +4
6 3 =5
2
X
7 5X—T
2
8. 12

9. 3=22(x+5)
4
10. 72x7?%=2

These are significantly harder

11, —— =L
XxX+1 2x

12, = =22
x—1 x+3
x+1

13. 22 =8

14, (%+ 12 =4

15. 42 =1
4 X+ 1
2 —4
16. 2x—1 x+5
17. >4+ % _o
X -2 X+1
18, —2_-_%

19. x*-9x=0
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Answers: Harder Solve Practice #2

To remove a fraction you multiply all the equation by the denominator

10.

X2 =8x - 12
X+ 6
T_S
X2 =X

4x% = 8X + 396

x> =10 - 3X
3Xx+ 4
—— =5
2
X
X =3
x2+25
T = 2X
3=22(x+5)
T T
72X 72 =2

X>-8X+12=0

If there are two denominators to remove, you multiply all terms by both

12.

13.

14.

15.

16.

17.

18.

19.

20.

x+1  2x
3 4
x—1 x+3
x+1

=8
x—4
X 2
Z+1)=4
(5 +1)
x 1
=1
4 x+1
2 -4

3 4
—+ =
x—2  x+1

2 x
x+5 x+2
X-9x =0

4 2
x—1 x+4

X 2X (X + 1) =

x (X=-1)(X+3) =
x (X-4)=
%+1:i\/2

X 4(X+ 1) =

x (2Xx-1)(x+ 5) =

x (X + 1)(X - 2) =
X (X + 6)(X + 2) =
X(X*-9) =0

X (X + 4)(X - 1) =

xX-6)x-2)=0 X=2o0r6
X+6=15 X=9
X(x-3.5)=0 X=0or3.5
X*-2X-99=0 X=11o0r9
X*+3Xx-10=0 X="50r2

3X + 4 = 40 X =12
X(x-15)=0 X=0or15

x>+ 10X + 25 =0 X="75

T =X+5 X === ="3.909
36 = x? X==%6
3(2x) = 7(X + 1) X="7

3(X + 3) = 4(x - 1) X =13

X+ 1=8(X-4) X =2 =4.7143
X =5(xvV4-1) X =50r"15
XX+ 1)+4=4(x+1) x=0o0r3

2(X + 5) = 4(2x - 1) X ="0.6

3(X+ 1) +4(X-2) =0 x:%:7.1429
2(X + 2) =X (X + 6) X=1or4
X(X-3)(X+3)=0 X=0,30r3

AX+4) +2(X - 1) = 1(X + 4)(X - 1)

X=6o0r"3



